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9% 10° = 10% =

5,19 % 10° = 3% 10 =

1,99 x 10° = 5,46+ 10° =

7% 10° = 2% 10° =

8,33 x 10° = 8,48 + 10° =

5,86 x 10* = 1,7+10% =

4,01 x 10° = 6,55 x 10° =

10* = 9,15+ 10° =

1,02+ 10° = 2% 10* =

10° = 10% =
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9 x 10% = 900

5,19 x 10° = 5190
1,99 x 10° = 199000
7 x 10° = 700000
8,33 x 10° = 833000
5,86 x 10% = 586
4,01 x 10° = 4.01
10* = 10000

1,02 + 10° = 0.00102

10° = 1000

dagitll
10 = 100
3 x 10* = 30000
5,46 + 10" = 5.46
2 x 10* = 2000
8,48 + 10° = 8.48
1,7+ 10* = 0.017
6,55 x 10° = 6550
9,15+ 10° = 0.00915
2 x 10* = 20000

10> = 100
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